Advance Mathematics (ΔΙΔΑΚΤΟΡΙΚΟ)
Στέλιος Κώτσιος
Homework 5
Due Date: 21/2/2014
1. We have the function 
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.  If we go from t=1 to t=1.01, use differentials to estimate the change in the images of 
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2. If 
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. Find 
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3. Let us consider the utilities functions 
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. How any change of r, influence U and V?

4. If 
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,  find 
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5. Compute the directional derivative of 
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at the point (4,-2) in the direction 
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6. We have the function 
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. If we move from the point (1,0,0) to the point
 (-1,2,2) on a straight line for a distance ds=0.01, find the change of f.

7. Find the directional derivative of the function 
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, along the curve 
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 at an arbitrary point 
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. Determine 
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which maximizes this derivative.
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